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R2 = 3 J r2 = 2 J m1 = 6 J m2 = 12 J m3 = 10 J
m4 = 13 J S = 123 K
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R2 = 4 J r2 = 2 J m1 = 10 J m2 = 12 J m3 = 24 J
m4 = 10 J S = 88 K
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R1 = 4 J r1 = 2 J R2 = 4 J r2 = 2 J m1 = 6 J m2 = 12 J
m3 = 6 J m4 = 12 J S = 108 J α = β = π/3 K
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R2 = 4 J r2 = 3 J R3 = 4 J r3 = 2 J m1 = 15 J m2 = 15 J
m3 = 15 J m4 = 13 J S = 116 J cosα = 0,8 K
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R1 = 3 J r1 = 2 J R2 = 3 J r2 = 2 J m1 = 5 J m2 = 13 J
m3 = 18 J m4 = 13 J S = 98 J cosα = 0,6 K
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R2 = 5 J r2 = 3 J R3 = 5 J r3 = 3 J m1 = 9 J m2 = 15 J
m3 = 15 J m4 = 15 J S = 216 J α = π/3 K
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R2 = 5 J r2 = 3 J m1 = 10 J m2 = 13 J m3 = 12 J
m4 = 12 J S = 47 K
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R2 = 4 J r2 = 3 J m1 = 15 J m2 = 6 J m3 = 20 J
m4 = 10 J S = 123 K
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R1 = 3 J r1 = 2 J R2 = 3 J r2 = 2 J m1 = 4 J m2 = 13 J
m3 = 8 J m4 = 10 J S = 70 J α = π/3 J β = π/3 K

234353 678 9:i 9 B @Nj<S@A g >@SDc

G
S-

α

FH

I

R2 = 4 J r2 = 3 J m1 = 15 J m2 = 13 J m3 = 12 J
m4 = 10 J S = 100 J cosα = 0,8 K
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R1 = 3 J r1 = 2 J R2 = 3 J r2 = 2 J m1 = 10 J m2 = 13 J
m3 = 9 J m4 = 10 J S = 42 J cosα = 0,6 K
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R2 = 5 J r2 = 3 J R3 = 4 J r3 = 2 J m1 = 8 J m2 = 12 J
m3 = 15 J m4 = 15 J S = 150 J α = π/3 K
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R2 = 5 J r2 = 3 J m1 = 10 J m2 = 13 J m3 = 15 J
m4 = 12 J S = 100 K
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R2 = 3 J r2 = 2 J m1 = 10 J m2 = 5 J m3 = 20 J
m4 = 13 J S = 38 K
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R1 = 4 J r1 = 3 J R2 = 3 J r2 = 2 J m1 = 7 J m2 = 10 J
m3 = 4 J m4 = 13 J S = 68 J α = π/3 J β = π/3 K

234353 678 9:^ 9 p@U @?DS k D?D`<
G

S-

α

F
H

I

R2 = 4 J r2 = 3 J R3 = 4 J r3 = 3 J m1 = 10 J m2 = 15 J
m3 = 15 J m4 = 13 J S = 106 J cosα = 0,8 K
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R1 = 4 J r1 = 2 J R2 = 3 J r2 = 2 J m1 = 5 J m2 = 12 J
m3 = 8 J m4 = 10 J S = 105 J cosα = 0,6 K
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R2 = 3 J r2 = 2 J m1 = 3 J m2 = 13 J m3 = 13 J
m4 = 10 J S = 78 J α = π/3 K
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R2 = 5 J r2 = 3 J m1 = 6 J m2 = 12 J m3 = 12 J
m4 = 12 J S = 84 K
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R2 = 4 J r2 = 2 J m1 = 10 J m2 = 2 J m3 = 26 J
m4 = 15 J S = 80 K
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R1 = 3 J r1 = 2 J R2 = 4 J r2 = 3 J m1 = 16 J m2 = 13 J
m3 = 15 J m4 = 10 J S = 54 J α = π/3 J cosβ = 0,8 K
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R2 = 4 J r2 = 3 J R3 = 5 J r3 = 3 J m1 = 25 J m2 = 10 J
m3 = 12 J m4 = 10 J S = 114 J cosα = 0,8 K


